

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

| ØASIS | Jump to PRCUID 💁 😡 😥 Home 🔑 Personalize 👔 Accessibility 🧧 App Help 🍸 |
|--|--|
| hristopher W Seckman | Procurement Budgeting Accounts Receivable Accounts Payable |
| Response(SR) Dept: 0619 ID: ESR01232500000004476 Ver.: 1 Function: New Phase: Final Modified by batch , 01/23/2025 | |
| er @ 4 | |
| | |
| | |
| Information Contact Default Values Discount Document Information Clarification Request | |
| Procurement Folder: 1595488 | S0 Doc Code: CRFQ |
| Procurement Type: Central Master Agreement | SO Dept: 0619 |
| Vendor ID: 000000111991 🚖 | SO Doc ID: FIC250000001 |
| Legal Name: GALLS LLC | Published Date: 1/9/25 |
| Alias/DBA: | Close Date: 1/23/25 |
| Total Bid: \$0.00 | Close Time: 13:30 |
| Response Date: 01/23/2025 | Status: Closed |
| Response Time: 13:22 | Solicitation Description: Tactical Items & Clothing |
| | |
| Responded By User ID: DavidAdams | Total of Header Attachments: 4 |
| First Name: David | Total of All Attachments: 4 |
| Last Name: Adams | |
| Email: bidreview@galls.com | |
| Phone: 8597870428 | |
| | |



Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia **Solicitation Response**

| Proc Folder: | 1595488 | | | | | | | | | | | |
|---------------------------|---------------------------------|------------------------------|---------|--|--|--|--|--|--|--|--|--|
| Solicitation Description: | tion: Tactical Items & Clothing | | | | | | | | | | | |
| Proc Type: | Central Master A | entral Master Agreement | | | | | | | | | | |
| Solicitation Closes | | Solicitation Response | Version | | | | | | | | | |
| 2025-01-23 13:30 | | SR 0619 ESR01232500000004476 | 1 | | | | | | | | | |

| VENDOR | | | | | |
|---------------------------|-------------------------|----------------|------------|----------------|----------|
| 000000111991 GALLS LLC | | | | | |
| Solicitation Number: | CRFQ 0619 FIC2500000001 | | | | |
| Total Bid: | 0 | Response Date: | 2025-01-23 | Response Time: | 13:22:12 |
| Comments: | | | | | |

| FOR INFORMATION CONTACT THE BUYER David H Pauline 304-558-0067 david.h.pauline@wv.gov | | |
|--|----------------------------|------|
| Vendor Signature X | FEIN# | DATE |
| All offers subject to all terms and conditions conta | ained in this solicitation | |

Α this solicitation

| 1 Eligible Item # 1 - Uniforms 0.00000 EA 7281901.590000 0.00 Comm Code Manufacturer Specification Model # | ontract Amount | Ln Total Or Contract Ame | e Ln T | e Unit Price | Unit Issue | Qty | | e Comm Ln Desc | Line |
|--|----------------|--------------------------|-------------|--------------|------------|---------|--------------|-------------------|--------|
| Comm Code Manufacturer Specification Model # | | 0.00 | 590000 0.00 | 7281901. | EA | 0.00000 | - Uniforms | Eligible Item # 1 | 1 |
| | | Model # | M | ification | Specifi | | Manufacturer | mm Code | Comm |
| 53102700 | | | | | | | | 02700 | 531027 |

Commodity Line Comments:

Extended Description:

Please see Exhibit "A" Pricing Page to input pricing. Eligible Items # 1 - Uniforms

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ Discount Percentage Category Section | | | | | | | | | | | | |
|---------------------|---|------------------------|---------------------------------|--|--|--|--|--|--|--|--|--|--|
| Category Section | Catalog Item Section | Discount Percentage | Int Percentage Category Section | | | | | | | | | | |
| 3.1.1 | Eligible Items # 1 - Uniforms | 18.00% | | | | | | | | | | | |
| 3.1.2 | Eligible Items # 2 - Casual Clothing | 18.00% | | | | | | | | | | | |
| 3.1.3 | Eligible Items # 3 - Tactical Equipment | 18.00% | | | | | | | | | | | |
| 3.1.4 | Eligible Items # 4 - Footwear | 18.00% | Please enter your discount | | | | | | | | | | |
| 3.1.5 | Eligible Items # 5 - Body Armor | 18.00% | percentage for each Catalog | | | | | | | | | | |
| 3.1.6 | Eligible Items # 6 - Duty Gear | 15.00% | | | | | | | | | | | |
| 3.1.7 | Eligible Items # 7 - Jackets | 18.00% | Item Section here. | | | | | | | | | | |
| 3.1.8 | Eligible Items # 8 - Patches | 18.00% | | | | | | | | | | | |
| 3.1.9 | Eligible Items # 9 - Badges | 18.00% | | | | | | | | | | | |
| 3.1.10 | Eligible Items # 10 - Miscellaneous Items | 18.00% | | | | | | | | | | | |

| Pricing Page Eligible Item Description - All references to brand names are for illustration |
|---|
| purposes only and vendor may bid the brand listed or an equal product. |

Discounted Unit Price Calculation

Bid Total Calculation

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|----------------------------|---|----------|------------------|---|------------|------------------------|--------------------------|---------------------------------------|---|--------------------------|--------------------|--|--|--|
| Eligible Item Number | Description | Category | Catalog Price | Units Provided for Catalog Price | Unit Price | Discount Percentage | Discounted Unit Price | Unit (For Calculation Purposes) | Annual Estimated Unit Quantity | Discounted Unit Price | ltem Total Cost | | | |
| 3.1.1 | Eligible Items # 1 - Uniforms | | | | | | | | | | | | | |
| 3.1.1.1 | 5.11 Tactical Taclite TDU Shirt or Equal | Uniforms | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Extra Small | | 65.00 | 1.00 | \$ 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 | | | |
| | Small | | 65.00 | 1.00 | \$ 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 | | | |
| | Large | | 65.00 | 1.00 | \$ 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 | | | |
| | X Large | | 65.00 | 1.00 | \$ 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 | | | |
| | 2X Large | | 75.00 | 1.00 | \$ 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 | | | |
| | 3X Large | | 75.00 | 1.00 | \$ 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 | | | |
| | 4X Large | | 75.00 | 1.00 | \$ 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 | | | |
| | 5X Large | | 75.00 | 1.00 | \$ 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 | | | |
| 3.1.1.2 | 5.11 Tactical TDU Shirt or Equal | Uniforms | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Extra Small | | 60.00 | 1.00 | \$ 60.00 | 18.00% | \$49.20 | Each | 100 | \$49.20 | \$4,920.00 | | | |
| | Small | | 60.00 | 1.00 | \$ 60.00 | 18.00% | \$49.20 | Each | 100 | \$49.20 | \$4,920.00 | | | |
| | Large | | 60.00 | 1.00 | \$ 60.00 | 18.00% | \$49.20 | Each | 100 | \$49.20 | \$4,920.00 | | | |
| | X Large | | 60.00 | 1.00 | \$ 60.00 | 18.00% | \$49.20 | Each | 100 | \$49.20 | \$4,920.00 | | | |
| | 2X Large | | 70.00 | 1.00 | \$ 70.00 | 18.00% | \$57.40 | Each | 100 | \$57.40 | \$5,740.00 | | | |
| | 3X Large | | 70.00 | 1.00 | \$ 70.00 | 18.00% | \$57.40 | Each | 100 | \$57.40 | \$5,740.00 | | | |
| | 4X Large | | 70.00 | 1.00 | \$ 70.00 | 18.00% | \$57.40 | Each | 100 | \$57.40 | \$5,740.00 | | | |
| | | | | | | | | | | | | | | |

| | | | | t A - Pricin Items & C CRFQ | - | - | | | | | | |
|---------|---|----------|-------|-----------------------------------|----|-------|--------|---------|------|-----|---------|------------|
| 3.1.1.3 | 5.11 Tactical Taclite Pro Shirt or Equal | Uniforms | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Extra Small | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 |
| | Small | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 |
| | Large | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 |
| | X Large | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 |
| | 2X Large | | 75.95 | 1.00 | \$ | 75.95 | 18.00% | \$62.28 | Each | 100 | \$62.28 | \$6,227.90 |
| 3.1.1.4 | Tactical 1/4 Zip Job Shirt or Equal | Uniforms | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Extra Small | | 70.00 | 1.00 | \$ | 70.00 | 18.00% | \$57.40 | Each | 100 | \$57.40 | \$5,740.00 |
| | Small | | 70.00 | 1.00 | \$ | 70.00 | 18.00% | \$57.40 | Each | 100 | \$57.40 | \$5,740.00 |
| | Large | | 70.00 | 1.00 | \$ | 70.00 | 18.00% | \$57.40 | Each | 100 | \$57.40 | \$5,740.00 |
| | X Large | | 70.00 | 1.00 | \$ | 70.00 | 18.00% | \$57.40 | Each | 100 | \$57.40 | \$5,740.00 |
| | 2X Large | | 80.00 | 1.00 | \$ | 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 |
| 3.1.1.5 | Spiewak Polyester Wool Performance Duty Shirt or Equal | Uniforms | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Extra Small - Chest 30/32 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | Small - Neck - 14 - 14.5 - Chest 34/36 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | Medium - Neck - 15 - 15.5 - Chest 38/40 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | Large - Neck - 16 - 16.5 - Chest 42/44 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | X Large - Neck - 17 - 17.5 - Chest 46/48 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | 2X Large - Neck - 18 - 18.5 - Chest 50/52 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | 3X Large - Neck - 19 - 19.5 - Chest 54/56 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | 4X Large - Neck - 20 - 20.5 - Chest 58/60 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |

| | | | | t A - Pricin Items & C CRFQ | - | - | | | | | | |
|---------|---|----------|-------|-----------------------------------|----|-------|--------|---------|------|-----|---------|------------|
| | 5X Large - Neck - 21 - 21.5 - Chest 62/64 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| | 6X Large - Neck - 22 - 22.5 - Chest 66/68 | | 89.99 | 1.00 | \$ | 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| 3.1.1.6 | 5.11 Tactical Taclite Pro Pants or Equal | Uniforms | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Mens 28 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 30 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 32 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 34 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 36 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 38 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 40 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 42 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Mens 44 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Mens 46 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Mens 48 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Mens 50 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Mens 52 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Mens 54 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Mens 56 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Mens 58 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Womens 2 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Womens 4 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Womens 6 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Womens 8 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Womens 10 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Womens 12 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Womens 14 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |

| | | | | t A - Pricing Items & C CRFQ | - | - | | | | | | |
|---------|-------------------------------------|----------|-------|------------------------------------|----|-------|--------|---------|------|-----|---------|------------|
| | Womens 16 | | 67.00 | 1.00 | \$ | 67.00 | 18.00% | \$54.94 | Each | 100 | \$54.94 | \$5,494.00 |
| | Womens 18 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Womens 20 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Womens 22 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Womens 24 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Womens 26 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| | Womens 28 | | 77.00 | 1.00 | \$ | 77.00 | 18.00% | \$63.14 | Each | 100 | \$63.14 | \$6,314.00 |
| 3.1.1.7 | Tactical Ripstop TDU Pants or Equal | Uniforms | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Mens Extra Small | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Mens Small | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Mens Medium | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Mens Large | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Mens X Large | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Mens 2X Large | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | Mens 3X Large | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | Mens 4X Large | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | Womens 2 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 4 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 6 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 8 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 10 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 12 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 14 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 16 | | 65.00 | 1.00 | \$ | 65.00 | 18.00% | \$53.30 | Each | 100 | \$53.30 | \$5,330.00 |
| | Womens 18 | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | Womens 20 | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|---------|---|----------|--------|------|-----------|--------|----------|------|-----|----------|-------------|--|--|--|
| 3.1.1.8 | Spiewak Four (4) Pocket Polyester Wool Pants or Equal | Uniforms | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Mens 28 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 30 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 32 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 34 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 36 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 38 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 40 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 42 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 44 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 46 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 48 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 50 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 52 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 54 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 56 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 58 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 60 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 62 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Mens 64 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Womens 2 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Womens 4 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Womens 6 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Womens 8 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Womens 10 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |
| | Womens 12 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 | | | |

| | | | | t A - Pricing Items & C CRFQ | | | | | | | |
|---------|--|----------|--------|------------------------------------|-----------|--------|----------|------|-----|----------|-------------|
| | Womens 14 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| | Womens 16 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| | Womens 18 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| | Womens 20 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| | Womens 22 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| | Womens 24 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| | Womens 26 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| | Womens 28 | | 130.99 | 1.00 | \$ 130.99 | 18.00% | \$107.41 | Each | 100 | \$107.41 | \$10,741.18 |
| 3.1.1.9 | Tru-Spec 24-7 Series Original Tactical Pants or Equal | Uniforms | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Mens 28 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 30 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 32 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 34 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 36 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 38 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 40 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 42 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 44 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 46 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 48 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 50 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 52 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Mens 54 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Womens 0 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Womens 2 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Womens 4 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |

| | | | t A - Pricin l Items & C CRFQ | - | | | | | | |
|---|----------|-------|-------------------------------------|-------------|--------|---------|------|-----|---------|------------|
| Womens 6 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 8 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 10 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 12 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 14 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 16 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 18 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 20 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 22 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| Womens 24 | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| 3.1.1.10 Red Kap Dura-Kap Industrial Pants or Equal | Uniforms | | | | | | | | | |
| Sizes: | | | | | | | | | | |
| Mens 26 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 28 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 30 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 32 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 34 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 36 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 38 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 40 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 42 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 44 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 46 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 48 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 50 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 52 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |
| Mens 54 | | 26.95 | 1.00 | \$ 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | | |
|----------|---|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|--|--|--|
| | Mens 56 | | 26.95 | 1.00 | \$ | 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 | | | |
| | Mens 58 | | 26.95 | 1.00 | \$ | 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 | | | |
| | Mens 60 | | 26.95 | 1.00 | \$ | 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 | | | |
| | Mens 62 | | 26.95 | 1.00 | \$ | 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 | | | |
| | Mens 64 | | 26.95 | 1.00 | \$ | 26.95 | 18.00% | \$22.10 | Each | 100 | \$22.10 | \$2,209.90 | | | |
| 3.1.1.11 | Flying Cross White Shirt or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | Mens 14.5 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 15.0 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 15.5 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 16.0 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 16.5 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 17.0 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 17.5 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 18.0 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Mens 18.5 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 28 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 30 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 32 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 34 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 36 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 38 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 40 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 42 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 44 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |
| | Womens 46 | | 65.95 | 1.00 | \$ | 65.95 | 18.00% | \$54.08 | Each | 100 | \$54.08 | \$5,407.90 | | | |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | | |
|----------|---|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|--|--|--|
| 3.1.1.12 | Flying Cross Women's Dress Trousers or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | Mens 28 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 30 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 32 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 34 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 36 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 38 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 40 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 42 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 44 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 46 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 48 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 50 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 52 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 54 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| | Mens 56 | | 62.95 | 1.00 | \$ | 62.95 | 18.00% | \$51.62 | Each | 100 | \$51.62 | \$5,161.90 | | | |
| 3.1.1.13 | Flying Cross Trousers with Flex Waistband or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | Mens 28 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 30 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 32 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 34 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 36 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 38 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | | |
|----------|---|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|--|--|--|
| | Mens 40 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 42 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 44 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 46 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 48 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 50 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 52 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| | Mens 54 | | 78.95 | 1.00 | \$ | 78.95 | 18.00% | \$64.74 | Each | 100 | \$64.74 | \$6,473.90 | | | |
| 3.1.1.14 | Flying Cross Vis System 3 Polyester Trousers or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | Mens 26 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 28 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 30 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 32 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 34 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 36 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 38 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 40 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 42 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 44 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 46 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 48 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Mens 50 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Womens 4 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Womens 6 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |
| | Womens 8 | | 74.95 | 1.00 | \$ | 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | | |
|----------|--|----------|--------|------|-----------|--------|----------|------|-----|----------|------------|--|--|--|--|
| | Womens 10 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 12 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 14 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 16 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 18 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 20 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 22 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 24 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| | Womens 26 | | 74.95 | 1.00 | \$ 74.95 | 18.00% | \$61.46 | Each | 100 | \$61.46 | \$6,145.90 | | | | |
| 3.1.1.15 | Flying Cross Polyester Wool Trousers with Flex Waistband or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | Mens 28 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 30 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 32 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 34 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 36 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 38 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 40 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 42 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 44 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 46 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 48 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | Mens 50 | | 121.95 | 1.00 | \$ 121.95 | 18.00% | \$100.00 | Each | 100 | \$100.00 | \$9,999.90 | | | | |
| | | | | | | | | | | | | | | | |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | | |
|----------|---|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|--|--|--|
| 3.1.1.16 | Tru-Spec 24-7 Classic Pants or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | Mens 28 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 30 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 32 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 34 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 36 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 38 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 40 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 42 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 44 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 46 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 48 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 50 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 52 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Mens 54 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 0 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 2 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 4 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 6 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 8 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 10 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 12 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 14 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 16 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 18 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 20 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| | Womens 22 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | | |
|----------|---|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|--|--|--|
| | Womens 24 | | 59.95 | 1.00 | \$ | 59.95 | 18.00% | \$49.16 | Each | 100 | \$49.16 | \$4,915.90 | | | |
| 3.1.1.17 | Lawpro 1 1/2 Premium Leather Uniform Belt or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | 30 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 32 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 34 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 36 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 38 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 40 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 42 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 44 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 46 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 48 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 50 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 52 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 54 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| | 56 | | 31.95 | 1.00 | \$ | 31.95 | 18.00% | \$26.20 | Each | 100 | \$26.20 | \$2,619.90 | | | |
| 3.1.1.18 | Boston Leather 1 1/2 Garrison Belt or Equal | Uniforms | | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | | |
| | 26 | | 50.00 | 1.00 | \$ | 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 | | | |
| | 28 | | 50.00 | 1.00 | \$ | 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 | | | |
| | 30 | | 50.00 | 1.00 | \$ | 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 | | | |
| | 32 | | 50.00 | 1.00 | \$ | 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 | | | |
| | 34 | | 50.00 | 1.00 | \$ | 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 | | | |
| | 36 | | 50.00 | 1.00 | \$ | 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 | | | |

| | | | | t A - Pricing Items & C CRFQ | - | | | | | | |
|----------|---|----------|-------|------------------------------------|-------------|--------|---------|------|-----|---------|------------|
| | 38 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 40 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 42 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 44 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 46 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 48 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 50 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 52 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 54 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 56 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 58 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 60 | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| 3.1.1.19 | 5.11 Tactical Operator 1.75 Belt or Equal Sizes: | Uniforms | | | | | | | | | |
| | Small | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | Large | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | X Large | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 2X Large | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| | 3X Large | | 50.00 | 1.00 | \$ 50.00 | 18.00% | \$41.00 | Each | 100 | \$41.00 | \$4,100.00 |
| 3.1.1.20 | 5.11 Tactical 1.5 TDU Belt or Equal | Uniforms | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Extra Small | | 25.50 | 1.00 | \$ 25.50 | 18.00% | \$20.91 | Each | 100 | \$20.91 | \$2,091.00 |
| | Small | | 25.50 | 1.00 | \$ 25.50 | 18.00% | \$20.91 | Each | 100 | \$20.91 | \$2,091.00 |
| | Large | | 25.50 | 1.00 | \$ 25.50 | 18.00% | \$20.91 | Each | 100 | \$20.91 | \$2,091.00 |
| | X Large | | 25.50 | 1.00 | \$ 25.50 | 18.00% | \$20.91 | Each | 100 | \$20.91 | \$2,091.00 |

| | | | | : A - Pricin Items & C CRFQ | | - | | | | | | |
|----------|--|----------|----------------|-----------------------------------|----------|----------------|------------------|--------------------|--------------|------------|--------------------|--------------------------|
| | 2X Large | | 25.50 | 1.00 | \$ | 25.50 | 18.00% | \$20.91 | Each | 100 | \$20.91 | \$2,091.00 |
| | 3X Large | | 25.50 | 1.00 | \$ | 25.50 | 18.00% | \$20.91 | Each | 100 | \$20.91 | \$2,091.00 |
| | 4X Large | | 25.50 | 1.00 | \$ | 25.50 | 18.00% | \$20.91 | Each | 100 | \$20.91 | \$2,091.00 |
| 3.1.1.21 | Accumold Elite Duty Belt or Equal | Uniforms | | | | | | | | | | |
| | Extra Small | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | Small | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | Large | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | X Large | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| | 2X Large | | 75.00 | 1.00 | \$ | 75.00 | 18.00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| 3.1.1.22 | Safariland 4-row Stitch Safarilaminate Duty Belt or Equal | Uniforms | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | 24 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 26 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 28 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 30 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 32 34 | | 92.50 92.50 | 1.00 | \$ \$ | 92.50 92.50 | 18.00% 18.00% | \$75.85 \$75.85 | Each Each | 100 100 | \$75.85 \$75.85 | \$7,585.00 \$7,585.00 |
| | 36 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 38 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 40 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 42 | | 92.50 | 1.00 | \$ | 92.50 | 18.00% | \$75.85 | Each | 100 | \$75.85 | \$7,585.00 |
| | 44 | | 102.50 | 1.00 | | 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| | 46 | | 102.50 | 1.00 | | 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| | 48 | | 102.50 | 1.00 | \$ | 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| | 50 | | 102.50 | 1.00 | \$ | 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |

| | | | | A - Pricing Items & C CRFQ | | | | | | | |
|----------|--|----------|--------|----------------------------------|-----------|--------|---------|------|-----|---------|------------|
| | 52 | | 102.50 | 1.00 | \$ 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| | 54 | | 102.50 | 1.00 | \$ 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| | 56 | | 102.50 | 1.00 | \$ 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| | 58 | | 102.50 | 1.00 | \$ 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| | 60 | | 102.50 | 1.00 | \$ 102.50 | 18.00% | \$84.05 | Each | 100 | \$84.05 | \$8,405.00 |
| 3.1.1.23 | Safariland Buckless Reversible Duty Belt or Equal | Uniforms | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Extra Small | | 52.50 | 1.00 | \$ 52.50 | 18.00% | \$43.05 | Each | 100 | \$43.05 | \$4,305.00 |
| | Small | | 52.50 | 1.00 | \$ 52.50 | 18.00% | \$43.05 | Each | 100 | \$43.05 | \$4,305.00 |
| | Medium | | 52.50 | 1.00 | \$ 52.50 | 18.00% | \$43.05 | Each | 100 | \$43.05 | \$4,305.00 |
| | Large | | 52.50 | 1.00 | \$ 52.50 | 18.00% | \$43.05 | Each | 100 | \$43.05 | \$4,305.00 |
| | X Large | | 52.50 | 1.00 | \$ 52.50 | 18.00% | \$43.05 | Each | 100 | \$43.05 | \$4,305.00 |
| | 2X Large | | 56.50 | 1.00 | \$ 56.50 | 18.00% | \$46.33 | Each | 100 | \$46.33 | \$4,633.00 |
| | 3X Large | | 56.50 | 1.00 | \$ 56.50 | 18.00% | \$46.33 | Each | 100 | \$46.33 | \$4,633.00 |
| | 4X Large | | 56.50 | 1.00 | \$ 56.50 | 18.00% | \$46.33 | Each | 100 | \$46.33 | \$4,633.00 |
| | 5X Large | | 56.50 | 1.00 | \$ 56.50 | 18.00% | \$46.33 | Each | 100 | \$46.33 | \$4,633.00 |
| | 6X Large | | 56.50 | 1.00 | \$ 56.50 | 18.00% | \$46.33 | Each | 100 | \$46.33 | \$4,633.00 |
| 3.1.1.24 | Galls Gear Leather Trouser Belt or Equal | Uniforms | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | 30 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 32 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 34 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 36 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 38 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 40 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |

| | | | | t A - Pricin Items & C CRFQ | - | | | | | | |
|----------|--------------------------|----------|-------|-----------------------------------|-------------|--------|---------|------|-----|---------|------------|
| | 42 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 44 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 46 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 48 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 50 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 52 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 54 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 56 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 58 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| | 60 | | 33.30 | 1.00 | \$ 33.30 | 18.00% | \$27.31 | Each | 100 | \$27.31 | \$2,730.60 |
| 3.1.1.25 | Clip on Tie | Uniforms | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Short - 16 Inches | | 11.95 | 1.00 | \$ 11.95 | 18.00% | \$9.80 | Each | 100 | \$9.80 | \$979.90 |
| | Regular - 17.5 Inches | | 11.95 | 1.00 | \$ 11.95 | 18.00% | \$9.80 | Each | 100 | \$9.80 | \$979.90 |
| | Long - 20 Inches | | 11.95 | 1.00 | \$ 11.95 | 18.00% | \$9.80 | Each | 100 | \$9.80 | \$979.90 |
| | Extra Long - 22.5 Inches | | 11.95 | 1.00 | \$ 11.95 | 18.00% | \$9.80 | Each | 100 | \$9.80 | \$979.90 |
| | 2X Long - 24 Inches | | 11.95 | 1.00 | \$ 11.95 | 18.00% | \$9.80 | Each | 100 | \$9.80 | \$979.90 |
| 3.1.1.26 | Break-Away Tie | Uniforms | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Short - 14.5 Inches | | 16.95 | 1.00 | \$ 16.95 | 18.00% | \$13.90 | Each | 100 | \$13.90 | \$1,389.90 |
| | Regular - 18 Inches | | 16.95 | 1.00 | \$ 16.95 | 18.00% | \$13.90 | Each | 100 | \$13.90 | \$1,389.90 |
| | Long - 20 Inches | | 16.95 | 1.00 | \$ 16.95 | 18.00% | \$13.90 | Each | 100 | \$13.90 | \$1,389.90 |
| | Extra Long - 22.5 Inches | | 16.95 | 1.00 | \$ 16.95 | 18.00% | \$13.90 | Each | 100 | \$13.90 | \$1,389.90 |
| | | | | | | | | | | | |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|----------|---|----------|--------|------|-----------|--------|----------|----------------|-----------------|----------|----------------|--|--|--|
| 3.1.1.27 | Straw Triple Brim Campaign Hat or Equal | Uniforms | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Size - 6 3/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 6 1/2 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 6 5/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 6 3/4 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 6 7/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 1/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 1/4 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 3/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 1/2 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 5/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 3/4 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 7 7/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | Size - 8 1/8 | | 150.95 | 1.00 | \$ 150.95 | 18.00% | \$123.78 | Each | 100 | \$123.78 | \$12,377.90 | | | |
| | | | | | | | | Sub Total Elig | gible Items # 1 | - | \$2,289,134.14 | | | |
| | | | | | | | | | | | | | | |

| | | | | t A - Pricin Items & C CRFQ | - | - | | | | | | |
|---------|--|-----------------|-------|-----------------------------------|----|-------|--------|---------|------|-----|---------|------------|
| 3.1.2 | Eligible Item # 2 - Casual Clothing | | | | | | | | | | | |
| 3.1.2.1 | 5.11 Tactical Utility Polo or Equal | Casual Clothing | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Extra Small | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | Small | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | Medium | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | Large | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | X Large | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | 2X Large | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | 3X Large | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | 4X Large | | 40.00 | 1.00 | \$ | 40.00 | 18.00% | \$32.80 | Each | 100 | \$32.80 | \$3,280.00 |
| | | | | | | | | | | | | |
| 3.1.2.2 | 5.11 Tactical Snag-Free Performance Polo Shirt or Equal | Casual Clothing | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Extra Small | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| | Small | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| | Medium | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| | Large | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| | X Large | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| | 2X Large | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| | 3X Large | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |

| | | | | : A - Pricin Items & (CRFQ | - | - | | | | | | |
|---------|---|-----------------|-------|-----------------------------------|----|-------|--------|---------|------|-----|---------|------------|
| | 4X Large | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| | 5X Large | | 52.00 | 1.00 | \$ | 52.00 | 18.00% | \$42.64 | Each | 100 | \$42.64 | \$4,264.00 |
| 3.1.2.3 | Propper T Shirts (3 Pack) or Equal | Casual Clothing | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Small | | 29.99 | 1.00 | \$ | 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| | Medium | | 29.99 | 1.00 | \$ | 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| | Large | | 29.99 | 1.00 | \$ | 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| | X Large | | 29.99 | 1.00 | \$ | 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| | 2X Large | | 29.99 | 1.00 | \$ | 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| | 3X Large | | 29.99 | 1.00 | \$ | 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| | 4X Large | | 29.99 | 1.00 | \$ | 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| 3.1.2.4 | Tru-Spec 24-7 Performance Polo or Equal | Casual Clothing | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Mens - Short Sleeve - Extra Small | | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 |
| | Mens - Short Sleeve - Small | | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 |
| | Mens - Short Sleeve - Medium | | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 |
| | Mens - Short Sleeve - Large | | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 |
| | Mens - Short Sleeve - X Large | | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 |
| | Mens - Short Sleeve - 2X Large | | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|-------------------------------------|---|------|----|-------|--------|---------|------|-----|---------|------------|--|--|--|--|
| Mens - Short Sleeve - 3X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Mens - Short Sleeve - 4X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Mens - Short Sleeve - 5X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Mens - Short Sleeve - 6X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - Extra Small | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - Small | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - Medium | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - 2X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - 3X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Women's - Short Sleve - 4X Large | 39.95 | 1.00 | \$ | 39.95 | 18.00% | \$32.76 | Each | 100 | \$32.76 | \$3,275.90 | | | | |
| Mens - Long Sleeve - Extra Small | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - Small | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - Medium | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - Large | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - X Large | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - 2X Large | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - 3X Large | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - 4X Large | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |
| Mens - Long Sleeve - 5X Large | 49.95 | 1.00 | \$ | 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 | | | | |

| | | | | t A - Pricinį Items & C CRFQ | - | | | | | | |
|---------|---|-----------------|-------|------------------------------------|-------------|--------|---------|------|-----|---------|------------|
| | Women's - Long Sleve - Small | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Women's - Long Sleve - Medium | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Women's - Long Sleve - Large | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Women's - Long Sleve - X Large | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Women's - Long Sleve - 2X Large | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Women's - Long Sleve - 3X Large | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | Women's - Long Sleve - 4X Large | | 49.95 | 1.00 | \$ 49.95 | 18.00% | \$40.96 | Each | 100 | \$40.96 | \$4,095.90 |
| | | | | | | | | | | | |
| 3.1.2.5 | Port Authority Ladies Silk Touch Short Sleeve Sport Shirt or Equal | Casual Clothing | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Small | | 18.99 | 1.00 | \$ 18.99 | 18.00% | \$15.57 | Each | 100 | \$15.57 | \$1,557.18 |
| | Medium | | 18.99 | 1.00 | \$ 18.99 | 18.00% | \$15.57 | Each | 100 | \$15.57 | \$1,557.18 |
| | Large | | 18.99 | 1.00 | \$ 18.99 | 18.00% | \$15.57 | Each | 100 | \$15.57 | \$1,557.18 |
| | X Large | | 18.99 | 1.00 | \$ 18.99 | 18.00% | \$15.57 | Each | 100 | \$15.57 | \$1,557.18 |
| | 2X Large | | 18.99 | 1.00 | \$ 18.99 | 18.00% | \$15.57 | Each | 100 | \$15.57 | \$1,557.18 |
| | 3X Large | | 18.99 | 1.00 | \$ 18.99 | 18.00% | \$15.57 | Each | 100 | \$15.57 | \$1,557.18 |
| | | | | | | | | | | | |
| 3.1.2.6 | Broadcloth Shirt or Equal | Casual Clothing | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Small | | 58.95 | 1.00 | \$ 58.95 | 18.00% | 18.00% | Each | 100 | \$0.18 | \$18.00 |
| | Medium | | 58.95 | 1.00 | \$ 58.95 | 18.00% | 18.00% | Each | 100 | \$0.18 | \$18.00 |

| | | | | t A - Pricing Items & C CRFQ | - | - | | | | | | |
|---------|--|-----------------|-------|------------------------------------|----|-------|--------|---------|------|-----|---------|------------|
| | Large | | 58.95 | 1.00 | \$ | 58.95 | 18.00% | 18.00% | Each | 100 | \$0.18 | \$18.00 |
| | X Large | | 58.95 | 1.00 | \$ | 58.95 | 18.00% | 18.00% | Each | 100 | \$0.18 | \$18.00 |
| | 2X Large | | 58.95 | 1.00 | \$ | 58.95 | 18.00% | 18.00% | Each | 100 | \$0.18 | \$18.00 |
| | 3X Large | | 58.95 | 1.00 | \$ | 58.95 | 18.00% | 18.00% | Each | 100 | \$0.18 | \$18.00 |
| 3.1.2.7 | Champion Exo Fleece Double Dry Crew Sweatshirt or Equal | Casual Clothing | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Small | | 40.99 | 1.00 | \$ | 40.99 | 18.00% | \$33.61 | Each | 100 | \$33.61 | \$3,361.18 |
| | Medium | | 40.99 | 1.00 | \$ | 40.99 | 18.00% | \$33.61 | Each | 100 | \$33.61 | \$3,361.18 |
| | Large | | 40.99 | 1.00 | \$ | 40.99 | 18.00% | \$33.61 | Each | 100 | \$33.61 | \$3,361.18 |
| | X Large | | 40.99 | 1.00 | \$ | 40.99 | 18.00% | \$33.61 | Each | 100 | \$33.61 | \$3,361.18 |
| | 2X Large | | 40.99 | 1.00 | \$ | 40.99 | 18.00% | \$33.61 | Each | 100 | \$33.61 | \$3,361.18 |
| | 3X Large | | 40.99 | 1.00 | \$ | 40.99 | 18.00% | \$33.61 | Each | 100 | \$33.61 | \$3,361.18 |
| 3.1.2.8 | Flexfit Performance Cap or Equal | Casual Clothing | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Small | | 14.99 | 1.00 | \$ | 14.99 | 18.00% | \$12.29 | Each | 100 | \$12.29 | \$1,229.18 |
| | Medium | | 14.99 | 1.00 | \$ | 14.99 | 18.00% | \$12.29 | Each | 100 | \$12.29 | \$1,229.18 |
| | Large | | 14.99 | 1.00 | \$ | 14.99 | 18.00% | \$12.29 | Each | 100 | \$12.29 | \$1,229.18 |
| | X Large | | 14.99 | 1.00 | \$ | 14.99 | 18.00% | \$12.29 | Each | 100 | \$12.29 | \$1,229.18 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|----------|---|-----------------|-------|------|----|-------|--------|---------|------|-----|---------|------------|--|--|
| | | | | | | | | | | | | | | |
| 3.1.2.9 | Flexfit Ball Wooly combed Twill Hat or Equal | Casual Clothing | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Small | | 15.99 | 1.00 | \$ | 15.99 | 18.00% | \$13.11 | Each | 100 | \$13.11 | \$1,311.18 | | |
| | Medium | | 15.99 | 1.00 | \$ | 15.99 | 18.00% | \$13.11 | Each | 100 | \$13.11 | \$1,311.18 | | |
| | Large | | 15.99 | 1.00 | \$ | 15.99 | 18.00% | \$13.11 | Each | 100 | \$13.11 | \$1,311.18 | | |
| | X Large | | 15.99 | 1.00 | \$ | 15.99 | 18.00% | \$13.11 | Each | 100 | \$13.11 | \$1,311.18 | | |
| | 2X Large | | 15.99 | 1.00 | \$ | 15.99 | 18.00% | \$13.11 | Each | 100 | \$13.11 | \$1,311.18 | | |
| | | | | | | | | | | | | | | |
| 3.1.2.10 | 5.11 Tactical Taclite Hat or Equal | Casual Clothing | 18.00 | 1.00 | \$ | 18.00 | 18.00% | \$14.76 | Each | 100 | \$14.76 | \$1,476.00 | | |
| 3.1.2.11 | 5.11 Tactical Fleece Watch Cap or Equal | Casual Clothing | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Small | | 18.00 | 1.00 | \$ | 18.00 | 18.00% | \$14.76 | Each | 100 | \$14.76 | \$1,476.00 | | |
| | Medium | | 18.00 | 1.00 | \$ | 18.00 | 18.00% | \$14.76 | Each | 100 | \$14.76 | \$1,476.00 | | |
| | Large | | 18.00 | 1.00 | \$ | 18.00 | 18.00% | \$14.76 | Each | 100 | \$14.76 | \$1,476.00 | | |
| | X Large | | 18.00 | 1.00 | \$ | 18.00 | 18.00% | \$14.76 | Each | 100 | \$14.76 | \$1,476.00 | | |
| | | | | | | | | | | | | | | |
| 3.1.2.12 | Midway Convertible Bell Crown Cap or Equal | Casual Clothing | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Size - 6 1/2 | | 74.99 | 1.00 | \$ | 74.99 | 18.00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 | | |

| | | | | : A - Pricin Items & C CRFQ | | | | | | | | |
|----------|---|-----------------------|--------|-----------------------------------|----------|--------|-----|----------|---------------|-----------------|----------|--------------|
| | Size - 6 5/8 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 6 3/4 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 6 7/8 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 1/8 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 1/4 | | 74.99 | 1.00 | \$ 74.9 | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 3/8 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 1/2 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 5/8 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 3/4 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 7 7/8 | | 74.99 | 1.00 | \$ 74. | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | Size - 8 | | 74.99 | 1.00 | \$ 74.9 | 99 18. | 00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| 3.1.2.12 | Misscellaneous Casual Clothing | Casual Clothing | | 1.00 | \$ - | 18. | 00% | \$0.00 | Each | 100 | \$0.00 | |
| | | | | | | | | | Sub Total Eli | gible Items # 2 | | \$334,740.98 |
| 3.1.3 | Contract Items # 3 - Tactical Equipment | | | | | | | | | | | |
| 3.1.3.1 | Smith & Wesson Model 100 Handcuffs or Equal | Tactical Equipment | 28.99 | 1.00 | \$ 28.9 | 99 18. | 00% | \$23.77 | Each | 100 | \$23.77 | \$2,377.18 |
| 3.1.3.2 | Smith & Wesson Model 1900 Leg Irons or Equal | Tactical Equipment | 50.99 | 1.00 | \$ 50.9 | 99 18. | 00% | \$41.81 | Each | 100 | \$41.81 | \$4,181.18 |
| 3.1.3.3 | Sabre Mark 9 Defense Spray or Equal | Tactical | | | | | | | | | | |
| | | Equipment | 75.00 | 1.00 | \$ 75.0 | 00 18. | 00% | \$61.50 | Each | 100 | \$61.50 | \$6,150.00 |
| 3.1.3.4 | ASP Airweight Expandable Baton - 21 Inch or Equal | Tactical Equipment | 146.40 | 1.00 | \$ 146.4 | 40 18. | 00% | \$120.05 | Each | 100 | \$120.05 | \$12,004.80 |

| | | | | t A - Pricing Items & C CRFQ | | | | | | | |
|---------|--|-----------------------|--------|------------------------------------|-----------|--------|----------|----------------|-----------------|----------|-------------|
| | | | | | | | | | | | |
| 3.1.3.5 | ASP Airweight Expandable Baton - 26 Inch or Equal | Tactical Equipment | 188.00 | 1.00 | \$ 188.00 | 18.00% | \$154.16 | Each | 100 | \$154.16 | \$15,416.00 |
| 3.1.3.6 | Steamlight Strion LEF HL Flashlight or Equal | Tactical Equipment | 175.95 | 1.00 | \$ 175.95 | 18.00% | \$144.28 | Each | 100 | \$144.28 | \$14,427.90 |
| 3.1.3.7 | Safariland RLS Tactical Gun Light or Equal | Tactical Equipment | 120.00 | 1.00 | \$ 120.00 | 18.00% | \$98.40 | Each | 100 | \$98.40 | \$9,840.00 |
| 3.1.3.8 | Flashlight or Equal | Tactical Equipment | 153.95 | 1.00 | \$ 153.95 | 18.00% | \$126.24 | Each | 100 | \$126.24 | \$12,623.90 |
| | | | | | | | | Sub Total Elig | gible Items # 3 | | \$77,020.96 |
| | | | | | | | | | | | |
| 3.1.4 | Contract Item # 4 - Footwear | | | | | | | | | | |
| 3.1.4.1 | Bates High Gloss Leather Sole Oxford Shoe or Equal | Footwear | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Size: 6 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 6 1/2 | | 79.99 | 1.00 | \$ 79.99 | | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 7 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 7 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 8 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 8 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 9 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |

| | | | | t A - Pricin Items & C CRFQ | - | | | | | | |
|---------|---|----------|--------|-------------------------------------|--------------|--------|---------|------|-----|---------|------------|
| | Size: 9 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 10 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 10 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 11 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 11 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 12 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 12 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 13 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 13 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 14 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 14 1/2 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| | Size: 15 | | 79.99 | 1.00 | \$ 79.99 | 18.00% | \$65.59 | Each | 100 | \$65.59 | \$6,559.18 |
| 3.1.4.2 | Bates GX-8 Gore Tex Side Zip Insulated Boot or Equal | Footwear | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Size: 7 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 7 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 8 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 8 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 9 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 9 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |

| | | | | t A - Pricin Items & C CRFQ | | | | | | | |
|---------|---|----------|--------|-----------------------------------|-----------|--------|---------|------|-----|---------|------------|
| | Size: 10 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 10 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 11 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 11 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 12 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 12 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 13 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 13 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 14 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 14 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 15 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 15 1/2 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| | Size: 16 | | 109.95 | 1.00 | \$ 109.95 | 18.00% | \$90.16 | Each | 100 | \$90.16 | \$9,015.90 |
| 3.1.4.3 | 5.11 Tactical ATAC 2.06 Quarter Boot or Equal | Footwear | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Size 4 | | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 |
| | Size 4 1/2 | | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 |
| | Size 5 | | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 |
| | Size 5 1/2 | | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 |
| | Size 6 | | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|--------------|---|------|-----------|--------|---------|------|-----|---------|------------|--|--|--|--|--|
| Size 6 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 7 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 7 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 8 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 8 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 9 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 9 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 10 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 10 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 11 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 11 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 12 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 12 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 13 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 13 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 14 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 14 1/2 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |
| Size: 15 | 115.00 | 1.00 | \$ 115.00 | 18.00% | \$94.30 | Each | 100 | \$94.30 | \$9,430.00 | | | | | |

| Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | |
|---|--|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|
| 3.1.4.4 | Thorogood Classic Leather Academy Oxford or Equal | Footwear | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Size 3 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size 3 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size 4 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size 4 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size 5 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size 5 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size 6 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size 6 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 7 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 7 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 8 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 8 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 9 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 9 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 10 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 10 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 11 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 11 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |

| Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | |
|---|--|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|
| | Size: 12 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 12 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 13 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 13 1/2 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| | Size: 14 | | 89.95 | 1.00 | \$ | 89.95 | 18.00% | \$73.76 | Each | 100 | \$73.76 | \$7,375.90 |
| 3.1.4.5 | Bates Lites Leather Dress Shoes or Equal | Footwear | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Size 6 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size 6 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 7 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 7 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 8 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 8 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 9 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 9 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 10 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 10 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 11 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 11 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 12 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 12 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 13 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 13 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 14 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |
| | Size: 14 1/2 | | 99.99 | 1.00 | \$ | 99.99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|---------|---|----------|--------|------|--------|-----|--------|----------|------|-----|----------|-------------|--|--|
| | Size: 15 | | 99.99 | 1.00 | \$ 99 | .99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 | | |
| | Size: 15 1/2 | | 99.99 | 1.00 | \$ 99. | .99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 | | |
| | Size: 16 | | 99.99 | 1.00 | \$ 99. | .99 | 18.00% | \$81.99 | Each | 100 | \$81.99 | \$8,199.18 | | |
| 3.1.4.6 | Danner 6" Kinetic Side Zip Waterproof Boot or Equal | Footwear | | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | | |
| | Size 6 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size 6 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 7 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 7 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 8 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 8 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 9 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 9 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 10 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 10 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 11 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 11 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 12 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 12 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 13 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 13 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 14 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 14 1/2 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 15 | | 219.95 | 1.00 | \$ 219 | | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 15 1/2 | | 219.95 | 1.00 | \$ 219 | | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |
| | Size: 16 | | 219.95 | 1.00 | \$ 219 | .95 | 18.00% | \$180.36 | Each | 100 | \$180.36 | \$18,035.90 | | |

| Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|---|--------------------------------|----------|-------|------|----|-------|--------|---------|------|-----|---------|------------|--|
| 3.1.4.7 | Rocky Slipstop Oxford or Equal | Footwear | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | |
| | Mens Size 7 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 7 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 8 | | 96.00 | 1.00 | | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 8 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 9 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 9 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 10 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 10 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 11 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 11 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 12 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 12 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 13 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 13 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 14 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 14 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Mens Size 15 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Womens Size 5 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Womens Size 6 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Womens Size 6 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Womens Size 7 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Womens Size 7 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Womens Size 8 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |
| | Womens Size 8 1/2 | | 96.00 | 1.00 | \$ | 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 | |

| | | | | t A - Pricin Items & (CRFQ | | | | | | | |
|---------|---------------------------|----------|--------|-----------------------------------|-----------|--------|----------|------|-----|----------|-------------|
| | Womens Size 9 | | 96.00 | 1.00 | \$ 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 |
| | Womens Size 9 1/2 | | 96.00 | 1.00 | \$ 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 |
| | Womens Size 10 | | 96.00 | 1.00 | \$ 96.00 | 18.00% | \$78.72 | Each | 100 | \$78.72 | \$7,872.00 |
| 3.1.4.8 | Rocky TMC Oxford or Equal | Footwear | | | | | | | | | |
| | Sizes: | | | | | | | | | | |
| | Mens Size 7 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 7 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 8 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 8 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 9 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 9 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 10 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 10 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 11 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 11 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 12 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 12 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 13 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 13 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Mens Size 14 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 5 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 5 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 6 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 6 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 7 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 7 1/2 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 8 | | 165.00 | 1.00 | \$ 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |

| | | | | : A - Pricin Items & C CRFQ | - | - | | | | | | |
|---------|--|----------|--------|-----------------------------------|----|--------|--------|----------|------|-----|----------|-------------|
| | Womens Size 8 1/2 | | 165.00 | 1.00 | \$ | 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 9 | | 165.00 | 1.00 | \$ | 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 9 1/2 | | 165.00 | 1.00 | \$ | 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| | Womens Size 10 | | 165.00 | 1.00 | \$ | 165.00 | 18.00% | \$135.30 | Each | 100 | \$135.30 | \$13,530.00 |
| 3.1.4.9 | Bates 4" Non-Metallic Waterproof Boot or Equal | Footwear | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Mens Size 7 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 7 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 8 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 8 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 9 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 9 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 10 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 10 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 11 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 11 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 12 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 12 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 13 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 13 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 14 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 14 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Mens Size 15 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 5 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 5 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 6 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 6 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |

| | | - | | t A - Pricing Items & C CRFQ | | | | | | | | |
|----------|---|----------|--------|------------------------------------|------|--------|--------|----------|------|-----|----------|-------------|
| | Womens Size 7 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 7 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 8 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 8 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 9 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 9 1/2 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| | Womens Size 10 | | 98.00 | 1.00 | \$ | 98.00 | 18.00% | \$80.36 | Each | 100 | \$80.36 | \$8,036.00 |
| 3.1.4.10 | Fire Boots | Footwear | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Mens Sizes | | 204.95 | 1.00 | \$ 2 | 204.95 | 18.00% | \$168.06 | Each | 100 | \$168.06 | \$16,805.90 |
| | Womens Sizes | | 204.95 | 1.00 | \$ 2 | 204.95 | 18.00% | \$168.06 | Each | 100 | \$168.06 | \$16,805.90 |
| 3.1.4.11 | Bates Lites Buckle Chukka Boot or Equal | Footwear | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | |
| | Mens Size 3 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 3 1/2 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 4 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 4 1/2 | | 121.00 | 1.00 | \$: | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 5 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 5 1/2 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 6 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 6 1/2 | | 121.00 | 1.00 | \$: | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 7 | | 121.00 | 1.00 | \$: | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 7 1/2 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 8 | | 121.00 | 1.00 | \$ 2 | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |
| | Mens Size 8 1/2 | | 121.00 | 1.00 | \$: | 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 |

| Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|---|--|----------|--------|------|-----------|--------|----------|------|-----|----------|-------------|--|--|
| | Mens Size 9 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 9 1/2 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 10 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 10 1/2 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 11 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 11 1/2 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 12 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 12 1/2 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 13 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 13 1/2 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 14 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 14 1/2 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | Mens Size 15 | | 121.00 | 1.00 | \$ 121.00 | 18.00% | \$99.22 | Each | 100 | \$99.22 | \$9,922.00 | | |
| | | | | | | | | | | | | | |
| 3.1.4.12 | Danner Acadia 8" Waterproof Duty Boot or Equal | Footwear | | | | | | | | | | | |
| | Sizes: | | | | | | | | | | | | |
| | Mens Size 5 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 5 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 6 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 6 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 7 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 7 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 8 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 8 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 9 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 9 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 10 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |
| | Mens Size 10 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 | | |

| | | | | A - Pricing Items & C CRFQ | | | | | | | |
|----------|---|------------|----------|----------------------------------|-------------|--------|------------|----------------|-----------------|------------|----------------|
| | Mens Size 11 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 11 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 12 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 12 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 13 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 13 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 14 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 14 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 15 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 15 1/2 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | Mens Size 16 | | 429.95 | 1.00 | \$ 429.95 | 18.00% | \$352.56 | Each | 100 | \$352.56 | \$35,255.90 |
| | | | | | | | | | | | |
| 3.1.4.13 | Miscellaneous Footwear | Footwear | | 1.00 | \$- | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | | | | | | | | | | | |
| | | | | | | | | Sub Total Eli | gible Items # 4 | 4 | \$3,115,278.40 |
| 3.1.5 | Contract Item # 5 - Ballistic Body Armor | | | | | | | | | | |
| 3.1.5.1 | Galls Active Shooter Armor Kit | Body Armor | 465.95 | 1.00 | \$ 465.95 | 18.00% | \$382.08 | Each | 100 | \$382.08 | \$38,207.90 |
| 3.1.5.2 | Survival Armor Performance 611 Concealable Vest or Equal | Body Armor | 1,134.00 | 1.00 | \$ 1,134.00 | 18.00% | \$929.88 | Each | 100 | \$929.88 | \$92,988.00 |
| 3.1.5.3 | Carrier for Survival Armor Performance 611 Vest or Equal | Body Armor | 334.00 | 1.00 | \$ 334.00 | 18.00% | \$273.88 | Each | 100 | \$273.88 | \$27,388.00 |
| 3.1.5.4 | WV Hi-Lite W/AXII 2 Carries 9 body Armor or Equal | Body Armor | 1,369.95 | 1.00 | \$ 1,369.95 | 18.00% | \$1,123.36 | Each | 100 | \$1,123.36 | \$112,335.90 |
| | | | | | | | | Sub Total Elig | gible Items # ! | 5 | \$270,919.80 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|---------|---|-----------|--------|------|-----------|--------|------------------------------|------|-----|----------|-------------|--|--|--|
| | | | | | | | | | | | | | | |
| 3.1.6 | Contract Item # 6 - Duty Gear | | | | | | | | | | | | | |
| 3.1.6.1 | Hand Cuff Case with Snap or Equal | Duty Gear | 31.08 | 1.00 | \$ 31.08 | 15.00% | \$26.42 | Each | 100 | \$26.42 | \$2,641.80 | | | |
| 3.1.6.2 | Double Magazine Pouch or Equal | Duty Gear | 34.41 | 1.00 | \$ 34.41 | 15.00% | \$29.25 | Each | 100 | \$29.25 | \$2,924.85 | | | |
| 3.1.6.3 | Level II Duty Holster or Equal | Duty Gear | 211.25 | 1.00 | \$ 211.25 | 15.00% | \$179.56 | Each | 100 | \$179.56 | \$17,956.25 | | | |
| 3.1.6.4 | Level III Gun Holster or Equal | Duty Gear | 190.75 | 1.00 | \$ 190.75 | 15.00% | \$162.14 | Each | 100 | \$162.14 | \$16,213.75 | | | |
| 3.1.6.5 | Safariland Tactical SLS OC/Mace Pouch or Equal | Duty Gear | 45.00 | 1.00 | \$ 45.00 | 15.00% | \$38.25 | Each | 100 | \$38.25 | \$3,825.00 | | | |
| 3.1.6.6 | ASP Rotating Scabbard | Duty Gear | 56.80 | 1.00 | \$ 56.80 | 15.00% | \$48.28 | Each | 100 | \$48.28 | \$4,828.00 | | | |
| 3.1.6.7 | Gould & Goodrich Expandable Baton Holder orEqual | Duty Gear | | 1.00 | \$ - | 15.00% | \$0.00 | Each | 100 | \$0.00 | | | | |
| 3.1.6.8 | Safariland Safarilaminate Belt Keepers or Equal | Duty Gear | 22.50 | 1.00 | \$ 22.50 | 15.00% | \$19.13 | Each | 100 | \$19.13 | \$1,912.50 | | | |
| | | | | | | | Sub Total Eligible! tems # 6 | | | | \$50,302.15 | | | |
| | | | | | | | | | | | | | | |

| Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | | |
|---|--|---------|--------|------|-----------|--------|----------|------|-----|----------|-------------|--|--|
| 3.1.7 | Eligible Item # 7 - Jackets | | | | | | | | | | | | |
| 3.1.7.1 | 5.11 Tactical Response Jacket or Equal | Jackets | | | | | | | | | | | |
| | Size: | | | | | | | | | | | | |
| | Small | | 80.00 | 1.00 | \$ 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 | | |
| | Medium | | 80.00 | 1.00 | \$ 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 | | |
| | Large | | 80.00 | 1.00 | \$ 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 | | |
| | X Large | | 80.00 | 1.00 | \$ 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 | | |
| | 2X Large | | 80.00 | 1.00 | \$ 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 | | |
| | 3X Large | | 92.00 | 1.00 | \$ 92.00 | 18.00% | \$75.44 | Each | 100 | \$75.44 | \$7,544.00 | | |
| 3.1.7.2 | 5.11 Tactical 5 in 1 Jacket or Equal | Jackets | | | | | | | | | | | |
| | Size: | | | | | | | | | | | | |
| | Extra Small | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | Small | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | Medium | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | Large | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | X Large | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | 2X Large | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | 3X Large | | 311.00 | 1.00 | \$ 311.00 | 18.00% | \$255.02 | Each | 100 | \$255.02 | \$25,502.00 | | |
| 3.1.7.3 | 5.11 Tactical Sabre Jacket or Equal | Jackets | | | | | | | | | | | |
| | Size: | | | | | | | | | | | | |
| | Extra Small | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | Small | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | Medium | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | Large | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |
| | X Large | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 | | |

| | | | | : A - Pricing Items & C CRFQ | | | - | | - | | |
|---------|--|---------|--------|------------------------------------|-----------|--------|----------|------|-----|----------|----------------------|
| | 2X Large | | 270.00 | 1.00 | \$ 270.00 | 18.00% | \$221.40 | Each | 100 | \$221.40 | \$22,140.00 |
| | 3X Large | | 311.00 | 1.00 | \$ 311.00 | 18.00% | \$255.02 | Each | 100 | \$255.02 | \$25,502.00 |
| | 4X Large | | 311.00 | 1.00 | \$ 311.00 | 18.00% | \$255.02 | Each | 100 | \$255.02 | \$25,502.00 |
| 3.1.7.4 | Dickies Fleece Lined Hooded Nylon Jacket or Equal | Jackets | | | | | | | | | |
| | Size: | | | | | | | | | | |
| | Small | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | Medium | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | Large | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | X Large | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | 2X Large | | | 1.00 | \$- | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | 3X Large | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| 3.1.7.5 | Columbia Fleece Jacket or Equal | Jackets | | | | | | | | | |
| | Size: | | | | | | | | | | |
| | Extra Small | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | Small | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | Medium | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | Large | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | X Large | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | 2X Large | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| | 3X Large | | | 1.00 | \$ - | 18.00% | \$0.00 | Each | 100 | \$0.00 | |
| 3.1.7.6 | Single Breasted Poly/Wool lined Coat with 4 Pocket Flaps or Equal | Jackets | | | | | | | | | |
| | Size: | | | | | | | | | | |
| | 34 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 |
| | 36 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25 <i>,</i> 087.90 |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | | | |
|---------|---|---------|--------|------|-----------|--------|----------|------|-----|----------|-------------|--|--|
| | 38 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 40 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 42 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 44 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 46 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 48 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 50 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 52 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 54 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 56 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 58 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | 60 | | 305.95 | 1.00 | \$ 305.95 | 18.00% | \$250.88 | Each | 100 | \$250.88 | \$25,087.90 | | |
| | Spiewak Weather Tech Systems Airflow Duty Jacket | | | | | | | | | | | | |
| 3.1.7.7 | or Equal | Jackets | | | | | | | | | | | |
| | Size: | | | | | | | | | | | | |
| | Extra Small | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | Small | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | Medium | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | Large | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | X Large | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | 2X Large | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | 3X Large | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | 4X Large | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | 5X Large | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | 6X Large | | 231.99 | 1.00 | \$ 231.99 | 18.00% | \$190.23 | Each | 100 | \$190.23 | \$19,023.18 | | |
| | | | | | | | | | | | | | |

| | | | | t A - Pricin Items & C CRFQ | | | | | | | |
|---------|--|------------------------|--------|-----------------------------------|-----------|--------|----------|----------------|-----------------|----------|----------------|
| 3.1.7.8 | Spiewak Performance Soft Jacket or Equal | Jackets | | | | | | | | | |
| | Size: | | | | | | | | | | |
| | Extra Small | | 139.99 | 1.00 | \$ 139.99 | 18.00% | \$114.79 | Each | 100 | \$114.79 | \$11,479.18 |
| | Small | | 139.99 | 1.00 | \$ 139.99 | 18.00% | \$114.79 | Each | 100 | \$114.79 | \$11,479.18 |
| | Medium | | 139.99 | 1.00 | \$ 139.99 | 18.00% | \$114.79 | Each | 100 | \$114.79 | \$11,479.18 |
| | Large | | 139.99 | 1.00 | \$ 139.99 | 18.00% | \$114.79 | Each | 100 | \$114.79 | \$11,479.18 |
| | X Large | | 139.99 | 1.00 | \$ 139.99 | 18.00% | \$114.79 | Each | 100 | \$114.79 | \$11,479.18 |
| | 2X Large | | 139.99 | 1.00 | \$ 139.99 | 18.00% | \$114.79 | Each | 100 | \$114.79 | \$11,479.18 |
| | 3X Large | | 167.99 | 1.00 | \$ 167.99 | 18.00% | \$137.75 | Each | 100 | \$137.75 | \$13,775.18 |
| | 4X Large | | 167.99 | 1.00 | \$ 167.99 | 18.00% | \$137.75 | Each | 100 | \$137.75 | \$13,775.18 |
| | 5X Large | | 167.99 | 1.00 | \$ 167.99 | 18.00% | \$137.75 | Each | 100 | \$137.75 | \$13,775.18 |
| | 6X Large | | 167.99 | 1.00 | \$ 167.99 | 18.00% | \$137.75 | Each | 100 | \$137.75 | \$13,775.18 |
| | | | | | | | | | | | |
| | | | | | | | | Sub Total Elig | gible Items # 7 | , | \$1,047,968.20 |
| | | | | | | | | | | | |
| 3.1.8 | Contract Item # 8 - Patches | | | | | | | | | | |
| 3.1.8.1 | Blackinton Lieutenant Bars or Equal | Patches-Name Plates | 10.40 | 1.00 | \$ 10.40 | 18.00% | \$8.53 | Each | 100 | \$8.53 | \$852.80 |
| 3.1.8.3 | Penn Emblem Hash Mark or Equal | Patches-Name Plates | 2.79 | 1.00 | \$ 2.79 | 18.00% | \$2.29 | Each | 100 | \$2.29 | \$228.78 |
| 3.1.8.4 | Chevrons or Equal | Patches-Name Plates | 3.07 | 1.00 | \$ 3.07 | 18.00% | \$2.52 | Each | 100 | \$2.52 | \$251.74 |
| 3.1.8.5 | Collar Insignia or Equal | Patches-Name Plates | 46.40 | 1.00 | \$ 46.40 | 18.00% | \$38.05 | Each | 100 | \$38.05 | \$3,804.80 |
| | | | | | | | | | | | |

| | Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | | |
|---------|---|------------------------|--------|------|-----------|--------|---------|----------------|----------------|---------|-------------|
| 3.1.8.6 | WV State Fire Marshal Patch | Patches-Name Plates | 3.50 | 1.00 | \$ 3.50 | 18.00% | \$2.87 | Each | 100 | \$2.87 | \$287.00 |
| | | | | | | | | Sub Total Elig | ible Items # 8 | | \$5,425.12 |
| | | | | | | | | | | | |
| 3.1.9 | Contract Item # 9 - Badges | | | | | | | | | | |
| 3.1.9.1 | Hat Badge or Equal | Badges | 101.50 | 1.00 | \$ 101.50 | 18.00% | \$83.23 | Each | 100 | \$83.23 | \$8,323.00 |
| 3.1.9.2 | Badge - Safey Clip Style or Equal | Badges | 101.50 | 1.00 | \$ 101.50 | 18.00% | \$83.23 | Each | 100 | \$83.23 | \$8,323.00 |
| 3.1.9.3 | Badge - Wallet Clip Style or Equal | Badges | 101.50 | 1.00 | \$ 101.50 | 18.00% | \$83.23 | Each | 100 | \$83.23 | \$8,323.00 |
| 3.1.9.4 | Badge or Equal | Badges | 80.00 | 1.00 | \$ 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 |
| 3.1.9.5 | Hat Badge or Equal | Badges | 80.00 | 1.00 | \$ 80.00 | 18.00% | \$65.60 | Each | 100 | \$65.60 | \$6,560.00 |
| 3.1.9.6 | Breast Badge or Equal | Badges | 107.00 | 1.00 | \$ 107.00 | 18.00% | \$87.74 | Each | 100 | \$87.74 | \$8,774.00 |
| 3.1.9.7 | Breast Badge or Equal | Badges | 107.00 | 1.00 | \$ 107.00 | 18.00% | \$87.74 | Each | 100 | \$87.74 | \$8,774.00 |
| | | | | | | | | Sub Total Elig | ible Items # 9 |) | \$55,637.00 |
| 3.1.10 | Contract Item # 10 - Miscellaneous Items | | | | | | | | | | |

Exhibit A - Pricing Page Tactical Items & Clothing CRFQ

| | | | | - | | | | | | | |
|-----------|--|---------------|-------|------|-------------|--------|---------|-----------------|----------------|---------|-------------|
| 3.1.10.1 | Campaign Hat Rain Cover or Equal | Miscellaneous | 14.95 | 1.00 | \$ 14.95 | 18.00% | \$12.26 | Each | 100 | \$12.26 | \$1,225.90 |
| 3.1.10.2 | Law Pro Unlined Leather Search Gloves or Equal | Miscellaneous | 29.99 | 1.00 | \$ 29.99 | 18.00% | \$24.59 | Each | 100 | \$24.59 | \$2,459.18 |
| 3.1.10.3 | Tri Fold Leather Badge Wallet or Equal | Miscellaneous | 24.99 | 1.00 | \$ 24.99 | 18.00% | \$20.49 | Each | 100 | \$20.49 | \$2,049.18 |
| 3.1.10.4 | Shooting Glasses or Equal | Miscellaneous | 23.94 | 1.00 | \$ 23.94 | 18.00% | \$19.63 | Each | 100 | \$19.63 | \$1,963.08 |
| 3.1.10.5 | Sirchie Evidence Tape or Equal | Miscellaneous | 89.99 | 1.00 | \$ 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| 3.1.10.6 | Sirchie Evidence Bags or Equal | Miscellaneous | 89.99 | 1.00 | \$ 89.99 | 18.00% | \$73.79 | Each | 100 | \$73.79 | \$7,379.18 |
| 3.1.10.7 | Tie Tacs or Equal | Miscellaneous | 11.86 | 1.00 | \$ 11.86 | 18.00% | \$9.73 | Each | 100 | \$9.73 | \$972.52 |
| 3.1.10.8 | Badge Holder or Equal | Miscellaneous | 7.99 | 1.00 | \$ 7.99 | 18.00% | \$6.55 | Each | 100 | \$6.55 | \$655.18 |
| 3.1.10.9 | Shooting Glasses or Equal | Miscellaneous | 23.94 | 1.00 | \$ 23.94 | 18.00% | \$19.63 | Each | 100 | \$19.63 | \$1,963.08 |
| 3.1.10.10 | Ear Protection or Equal | Miscellaneous | 39.99 | 1.00 | \$ 39.99 | 18.00% | \$32.79 | Each | 100 | \$32.79 | \$3,279.18 |
| 3.1.10.11 | First Aid Kits | Miscellaneous | 74.99 | 1.00 | \$ 74.99 | 18.00% | \$61.49 | Each | 100 | \$61.49 | \$6,149.18 |
| | | | | | | | 9 | Sub Total Eligi | ble Items # 10 | | \$35,474.84 |

| Exhibit A - Pricing Page Tactical Items & Clothing CRFQ | | | | | | | | | |
|---|-------------------------------|----------------|--|--|--|--|--|--|--|
| | Contracted Items Totals Page | | | | | | | | |
| | | | | | | | | | |
| 3.1.1 | Sub Total Eligible Items # 1 | \$2,289,134.14 | | | | | | | |
| 3.1.2 | Sub Total Eligible Items # 2 | \$334,740.98 | | | | | | | |
| 3.1.3 | Sub Total Eligible Items # 3 | \$77,020.96 | | | | | | | |
| 3.1.4 | Sub Total Eligible Items # 4 | \$3,115,278.40 | | | | | | | |
| 3.1.5 | Sub Total Eligible Items # 5 | \$270,919.80 | | | | | | | |
| 3.1.6 | Sub Total EligibleI tems # 6 | \$50,302.15 | | | | | | | |
| 3.1.7 | Sub Total Eligible Items # 7 | \$1,047,968.20 | | | | | | | |
| 3.1.8 | Sub Total Eligible Items # 8 | \$5,425.12 | | | | | | | |
| 3.1.9 | Sub Total Eligible Items # 9 | \$55,637.00 | | | | | | | |
| 3.1.10 | Sub Total Eligible Items # 10 | \$35,474.84 | | | | | | | |
| | | | | | | | | | |

/,281,901.55

Please note: This information is being captured for auditing purposes.

Quantities listed herin are for bid evaluation purposes; no guarantee of any actual

quantities should be implied.

Any product or service not on the Agency provided Cost Sheet will not be allowable. The state cannot accept alternate pricing pages, failure to use Exhibit A Cost Sheet could lead to disqualification of vendors bid.

Vendor should type or electronically enter the information into the Pricing Page to prevent errors in the evaluation.

| BIDDER /VENDOR INFORMATION: | | | | | |
|-----------------------------|------------------------|--|--|--|--|
| Vendor Name: | Galls, LLC | | | | |
| Address: | 1340 Russell Cave Road | | | | |
| City, State Zip: | Lexington, KY 40505 | | | | |
| Phone Number: | 859-266-7227 | | | | |
| Email Address: | bidreview@galls.com | | | | |
| nu fil | January 23, 2025 | | | | |
| Vendor Signature: | Date: | | | | |



Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Centralized Request for Quote

| Proc Folder: | 1595488 | | Reason for Modification: |
|------------------|---------------------------|-------------------------|--------------------------|
| Doc Description: | Tactical Items & Clothing | | |
| | | | |
| | | | |
| Proc Type: | Central Master Agreement | | |
| Date Issued | Solicitation Closes | Solicitation No | Version |
| 2025-01-09 | 2025-01-23 13:30 | CRFQ 0619 FIC2500000001 | 1 |

| BID RECEIVING LOCATION | | | | | |
|------------------------------|--|--|--|--|--|
| BID CLERK | | | | | |
| DEPARTMENT OF ADMINISTRATION | | | | | |
| PURCHASING DIVISION | | | | | |
| 2019 WASHINGTON ST E | | | | | |
| CHARLESTON WV 25305 | | | | | |
| US | | | | | |
| | | | | | |

| VENDOR | | | | | |
|-----------------------|-----------------|-------------------------|-------------|--|--|
| Vendor Customer Code: | 000000111991 | | | | |
| Vendor Name : | Galls, LLC | | | | |
| Address : | 1340 | | | | |
| Street : | Russell Cave Rd | | | | |
| City : | Lexington | | | | |
| State : | KY | Country: ^{USA} | Zip : 40505 | | |
| Principal Contact : | Moriah Rudiger | | | | |
| Vendor Contact Phone: | 844-464-2557 | Extension: | | | |

FOR INFORMATION CONTACT THE BUYER David H Pauline 304-558-0067 david.h.pauline@wv.gov

Vendor We Sel Signature X

FEIN# 20-3545989

DATE: 01/22/2025

All offers subject to all terms and conditions contained in this solicitation

ADDITIONAL INFORMATION

The West Virginia Purchasing Division is soliciting bids on behalf of the Office of the State Fire Marshal and the West Virginia Division of Protective Services - Capital Police, to establish an open-end contract for Tactical Items and Clothing. The Contract awarded from this RFQ shall cover eligible items from the Vendor's Catalog. See the attached documents.

| INVOIC | E TO | | SHIP TO | | | |
|--------------------|-----------------|----------------|------------|-----------------|------------|-------------|
| ALL STATE AGENCIES | | | | F WEST VIRGINIA | | |
| | JS LOCATIONS A | | | SLOCATIONS AS | | |
| INDICA | TED BY ORDER | | INDICATE | ED BY ORDER | | |
| No City | | WV | No City | | WV | |
| US | | | US | | | |
| Line | Comm Ln De | esc | Qty | Unit Issue | Unit Price | Total Price |
| 1 | Eligible Item # | # 1 - Uniforms | 0.00000 | EA | | |
| Comm | Code | Manufacturer | Specificat | ion | Model # | |
| 5310270 | 00 | | | | | |
| | | | | | | |

Extended Description:

Please see Exhibit "A" Pricing Page to input pricing.

Eligible Items # 1 - Uniforms

| SCHEDUL | E OF EVENTS | |
|---------|---|------------|
| Line | Event | Event Date |
| 1 | Vendor Technical Questions Due By 11:00 am., est. | 2025-01-15 |

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

(Printed Name and Title) Moriah Rudiger______ (Address) 1340 Russell Cave Rd. Lexington, KY 40505_ (Phone Number) / (Fax Number) 844-464-2557______ (email address) bidreview@galls.com______

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that: I have reviewed this Solicitation/Contract in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation/Contract for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that this bid or offer was made without prior understanding, agreement, or connection with any entity submitting a bid or offer for the same material, supplies, equipment or services; that this bid or offer is in all respects fair and without collusion or fraud; that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; that I am authorized by the Vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on Vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

By signing below, I further certify that I understand this Contract is subject to the provisions of West Virginia Code § 5A-3-62, which automatically voids certain contract clauses that violate State law; and that pursuant to W. Va. Code 5A-3-63, the entity entering into this contract is prohibited from engaging in a boycott against Israel.

| Galls, LLC | | |
|--|------------------|--|
| (Company) | | |
| (Signature of Authorized Representative) | | |
| Mike Fadden, CEO | January 22, 2025 | |
| (Printed Name and Title of Authorized Representation | ative) (Date) | |
| (859) 226-7227 | | |
| (Phone Number) (Fax Number) | | |
| bidreview@galls.com | | |
| (Email Address) | | |

8.1.4 Failure to remedy deficient performance upon request.

8.2 The following remedies shall be available to Agency upon default.

- **8.12.1** Immediate cancellation of the Contract.
- **8.12.2** Immediate cancellation of one or more release orders issued under this Contract.
- **8.12.3** Any other remedies available in law or equity.

9 MISCELLANEOUS:

- **9.1 No Substitutions:** Vendor shall supply only Contract Items submitted in response to the Solicitation unless a contract modification is approved in accordance with the provisions contained in this Contract.
 - **9.2 Vendor Supply:** Vendor must carry sufficient inventory of the Eligible Items being offered to fulfill its obligations under this Contract. By signing its bid, Vendor certifies that it can supply the Eligible Items contained in its bid response.
 - **9.3 Reports:** Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agency's items purchased, quantities of items purchased, and total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of the Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract.
 - **9.4 Contract Manager:** During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

| | Moriah Rudiger |
|--------------------------|---------------------|
| Contract Manager: | |
| | 844-464-2557 |
| Telephone Number: | |
| | |
| Fax Number: | |
| | bidreview@galls.com |
| Email Address: | |



Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Centralized Request for Quote

| Proc Folder: | 1595488 | | Reason for Modification: |
|------------------|---------------------------|------------------------|--------------------------|
| Doc Description: | Tactical Items & Clothing | | |
| | | | |
| | | | |
| Proc Type: | Central Master Agreement | | |
| Date Issued | Solicitation Closes | Solicitation No | Version |
| 2025-01-09 | 2025-01-23 13:30 | CRFQ 0619 FIC250000001 | 1 |

| ID RECEIVING LOCATION | |
|-----------------------------|--|
| ID CLERK | |
| EPARTMENT OF ADMINISTRATION | |
| URCHASING DIVISION | |
| 019 WASHINGTON ST E | |
| HARLESTON WV 25305 | |
| S | |
| | |
| | |

| VENDOR | | | |
|-----------------------|-----------------|-------------------------|-------------|
| Vendor Customer Code: | 000000111991 | | |
| Vendor Name : | Galls, LLC | | |
| Address : | 1340 | | |
| Street : | Russell Cave Rd | | |
| City : | Lexington | | |
| State : | KY | Country: ^{USA} | Zip : 40505 |
| Principal Contact : | Moriah Rudiger | | |
| Vendor Contact Phone: | 844-464-2557 | Extension: | |

FOR INFORMATION CONTACT THE BUYER David H Pauline 304-558-0067 david.h.pauline@wv.gov

ul fill Vendor Signature X

FEIN# 20-3545989

DATE: 01/22/2025

All offers subject to all terms and conditions contained in this solicitation

ADDITIONAL INFORMATION

The West Virginia Purchasing Division is soliciting bids on behalf of the Office of the State Fire Marshal and the West Virginia Division of Protective Services - Capital Police, to establish an open-end contract for Tactical Items and Clothing. The Contract awarded from this RFQ shall cover eligible items from the Vendor's Catalog. See the attached documents.

| INVOICE | E TO | | SHIP TO | | | |
|--|----------------|----------------|--|-----------------|------------|-------------|
| ALL STA | TE AGENCIES | | STATE OI | F WEST VIRGINIA | | |
| VARIOUS LOCATIONS AS INDICATED BY ORDER | | | VARIOUS LOCATIONS AS INDICATED BY ORDER | | | |
| No City | | WV | No City | | WV | |
| US | | | US | | | |
| Line | Comm Ln De | esc | Qty | Unit Issue | Unit Price | Total Price |
| 1 | Eligible Item | # 1 - Uniforms | 0.00000 | EA | | |
| Comm C | Code | Manufacturer | Specificati | on | Model # | |
| 5310270 | 00 | | | | | |
| Extende | d Description: | | | | | |

Please see Exhibit "A" Pricing Page to input pricing.

Eligible Items # 1 - Uniforms

| SCHEDULE OF EVENTS | | | | |
|--------------------|---|------------|--|--|
| Line | <u>Event</u> | Event Date | | |
| 1 | Vendor Technical Questions Due By 11:00 am., est. | 2025-01-15 | | |

| | Document Phase | Document Description | Page 3 |
|--------------|----------------|---------------------------|-----------|
| FIC250000001 | Final | Tactical Items & Clothing | |

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions



Fulfillment and Order Management

Galls is the reliable source for quality, in-stock public safety equipment and apparel. Like you, we're quick, efficient, and effective. Galls understands that the demanding needs of your profession drive your purchasing decisions, so we ensure you have the high-quality gear you need to do your job. As the public safety industry leader, we pride ourselves on having the largest inventory in the industry. However, your options do not end with our inventory; Galls will leverage our experience and knowledge to find the products you require in the rare event we do not inventory the item or brand. Utilizing Galls on-site warehouse space to store items until immediately prior to your requisition enables you to either request the entire shipment at once, or to receive either individual or groups of end items as they are required. We can be ready to expedite your order upon request.

Galls has vast experience in providing the types of items required by your bid, along with any repairs, alterations, sizing, embroidery (including multi-color), sewing, or other services required by agencies within the State of West Virginia. Once an order is placed through any payment method allowed by in house administrators, a user can come back to the website to track their order's progress at any time, and if they provide an email or phone number they will even be sent notifications at every step of the order process from "Order Received" to "Delivered" or "Ready for Pickup." Because of Galls' first class logistics and inventory system, once a user places an approved order, processing begins immediately, so there is no delay from order placement to the beginning of order fulfillment.

Inventory Management and Quality Control

Galls has a fully staffed Inventory Management Department ("IM") that is responsible for purchasing and managing our inventory. On average Galls holds approximately \$80M in on-hand inventory. The IM department utilizes an integrated, fully automated inventory management forecasting system. The system uses complex algorithms to compute current and future needs on finished goods inventory. Galls' IM Team reviews electronic data provided by the system and then adds human logic as well as customer input. Proper forecasting depends upon a partnership between Galls and the relevant West Virginia agencies when planning for current and future needs, including new recruit classes, special events, program changes and demand fluctuations. Galls' Initial Fill Rate is 85% for un-customized orders.



Galls earned our place as the top destination for public safety customers by applying the strictest standards of quality and focusing on constant innovation and improvement. Galls provides multipoint inspections to every item we intake, alter, sell, and deliver. At each of these steps, a quality check is performed, so we can ensure that only the highest quality goods enter or leave our facilities. In the event of an issue, Galls documents every step along the way to find where it occurred and ensure it does not happen again. Galls retains stock of many items for quick turnaround in the rare event of a quality concern or defect.

Customized Online Ordering System, eQuip

The Galls eQuip software-as-a-service system is a comprehensive B2B ordering platform designed to prioritize customer needs. eQuip facilitates efficient order management, spending control, and budgeting through features like allotment management, approval management, robust reporting tools, and asset management. With secure user management and checkout capabilities, the system tailor's product offerings to individual roles within a customer's organization, ensuring that employees see and purchase only authorized products, with the flexibility to make product updates based on changing business needs. Additionally, eQuip supports bulk purchasing, shopping lists, and package ordering, providing customers with efficient tools to manage orders and capture spend data with a tailored approach. The system's robust features are configurable to meet the unique requirements of each customer, ensuring a seamless program management experience. Deployed throughout Galls' customer base, eQuip operates in over 8,000 customer storefronts.

Galls provides training for administrative staff and individual employees and provides selfservice training materials if needed. Administrative staff also have the ability to add or delete items as the needs of agencies change. With Galls' inventory and selection being the largest in the industry, customers have the ability to pivot as needed and stay up to date on all the latest equipment. Any issues with the software can be reported to your dedicated representative team for immediate review, and we will provide a response with a plan for resolution typically within 1 business day.

The efficiencies gained by utilizing eQuip result in real dollar savings beyond evaluating products on a line-item basis. By utilizing the eQuip system, you are eliminating a lot of the hidden costs of managing your uniform program such as dealing with multiple suppliers. Galls has partnered with over 1,600 manufacturers and can be your one-stop shop. Time spent traveling to and from



a store location to be sized or place orders can now be done from any mobile device. By utilizing eQuip you are lowering costs just by saving time, money and hours previously spent managing your uniform program, all while increasing your buying power.

Reporting Capabilities

Current and historical invoices are available to view online to approved agency administrators. Invoices can be directed to individual agencies or a centralized account email address. Each shipment is accompanied by a physical invoice, and we can provide electronic invoices in common formats. In the unlikely event of a discrepancy, customers can contact their designated Galls representative, and any funds can be credited to the account or refunded. All invoices, documents, and records will be retained for the duration of the contract or until such a time as required before their destruction.

Through eQuip, customers have customizable detailed reports at their fingertips 24 hours a day, 365 days a year. This makes tracking key performance indicators easier and allows up to the minute tracking of expenses. Any user identified as an administrator can request reports, and each administrator's access can be limited to their specific area. Available reports include:

- Allotment Report
- Allowance Report
- Order History Sales Report
- Itemized Sales Report
- Allotment Activity Report
- Unit Allotment Activity Report
- Backorder Report
- Dropship Report
- Awaiting Pickup Report
- Top Vendors Report
- Fill Rate Report
- Unclaimed Merchandise
 Report



Within these offerings, specific parameters and filters can be set, such as date range, order status, location, department, and individual reports. This ensures that any administrator receives only the information they need and in the desired format. Reports can be viewed in the web-view, exported to Excel, or e-mailed directly to the requesting user.

In addition to the reports available to administrators at any time, Galls schedules quarterly or yearly reviews where we discuss the current status of the purchase program. During these meetings, we work with customers to determine if any updates or changes are needed to improve customer experience or efficiency.

Galls does not charge any additional fees for providing its customized eQuip solution to a customer. Please see full eQuip Specifications attached.

Return and Restocking Policy

Trust is crucial to a team and, as your partner, we want to make sure our products match your expectations. We offer two levels of returns:

- 30 Day Returns: We provide a refund to the method of payment withing the first 30 days on returns of resalable items that are unworn, in new condition, and in original packaging along with all packaging attachments and enclosures, including all applicable tags, instructions, etc. For apparel, return item in its original, packaging along with all packaging attachments and enclosures, including all applicable tags, instructions, etc. Some restrictions apply.
- 90 Day Returns: For these returns Galls Account credit or a gift card are provided. We accept returns of resalable items within 90 Days of delivery that are unworn, in new condition, and in original packaging along with all packaging attachments and enclosures, including all applicable tags, instructions, etc. For apparel, return item in its original, packaging along with all packaging attachments and enclosures, including all applicable tags, instructions, etc. Some restrictions apply.



Manufacturer Warranties

Many products sold by Galls offer extended manufacturer's warranties. Galls will pass along all manufacturer's warranties to DFW Airport and support DFW Airport personnel in their dealings with the manufacturer's customer service representatives in the rare instances where the need to process warranty returns arises.